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L , agree to neither give nor receive any help on this exam

from others. 1 understand that the use of a calculator or communication device on this exam is
academic misconduct. 1 also understand that providing answers to questions on this exam to
other students is academic misconduct, as is taking or receiving answers to questions on this
exam from other students. Thus, T will cover my answers and not expose my answers to other
students. It is important to me to be a person of integrity and that means ALL ANSWERS on this
exam are my answers. Any violation of these guidelines will result in a penalty of at least

recetving a zero on this exam,

Signed

Binary Choice (9 questions each worth 2 points each)
1) Read the following statements, then choose the correct description of each:

e e E e
(I} Government provided healthcare increases public expenditures. f@‘?iﬁw “ %Jg{ © (’ﬁi v Vf”’ ﬁj{ﬁ
(II) Government should provide basic healtheare to all citizens. T ov madiye - yale \E}""L'%W"‘

@I) is a positive economic staternent. (I1) is a normative statement.
b) (1) is a normative economic statement. (IT) is a positive statement,

2} Closely examine the following plot of a PPF:

X

10 O.C.NAHA t@ﬁw?)yﬁz}ﬁ?/(

1012 y

If you are currently producing at point A, what is the opportunity cost of moving to point B?

(2) B units of X
b) 6 units of X
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L fﬁf 3) Sally earns $1000 per month working at the UW hospital. Each month she pays $100 in taxes
(regardless of her income). Suppose Sally is given a $300 per month raise. What is the percent

ﬁ% A change in her net (after-tax) monthly income? o
{?%ﬂmf 3 {078 ~ Lo - QiU = %«ﬁ—w Free dvicome
' [a))33.3%
" i - (LD s A w W frpprcov ,
b)_a()% {%{}u i it {4 j;{,{}f"éiﬁc(ﬁh}?} 257'5‘? ..

e A )L{};—f}lea, AR A came = T
Dﬂ’”ﬁ ﬁgﬁf?&) Alice’s initial demand for potatoes can be represented by the following equation where Q is
the quanmy of potatoes and P is the price of potatoes:
BrQ=4-p
When Alice’s income decreases, her demand for potatoes changes to the equation:
Pi- P=3-20
Given this information and holding everything else constant, we can conclude that potatoes are

a/an ood for Alice. o =
— SN fis income 2 Dshulfs leff 2
a) inferior TN &"fzmﬁef Sdwe nm’mai
b)normal RvES f)
@

A )! ! 5) Suppose that whenever the price of bread increases, we observe that the demand for blueberry

.= jam decreases and the demand for bagels increases. Given this information and holding _

Appuc aiied 7 T : ) _ :

- everything else constant, which of the following statements are correct? !0 ) [ Ditwg

o Gread | Ve jm {2 vy,
DEF Iy @Bread and blueberry jam are complements; bread and bagels are substitutes. E) Yoy ‘?:}5 A
2 A8 -

b) Bread and bagels are complements; bread and blueberry jam are substitutes.

& /%”( 6) Consider the market for cheese curds in Madison. Suppose a plague on the dairy cow
= population causes a reduction in supply for this year. Which of the following best describes the
effect of this plague on the demand for cheese curds? / _ /g s,

a) The plague results in a shift of the demand curve. b
b)jThe results in a movement along the demand curve. é:@
f\fér 7) Consider a market composed of two consumers: Alice and Bob. Their individual demand
T curves are given by the following equations where Q is the quantity of hamburgers and P is the
HARD price per hamburger:
' Alice’s demand for hamburgers: P =6 - Q
Bob’s demand for hamburgers: Q=3 — (1/2)P
% he market demand curve for hamburgers is a straight line.
b) The market demand curve for hamburgers contains a kink point.
ot Depad)
’0 Auce W\L&
é "
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gﬂ \{ 8) Narnia’s opportunity cost of producing 1 ton of steel in 2016 was 10 barrels of cil. In 2017 Narnia
began using a new, more productive technology for steel production. Everything else being the same, is it
true that Narnia’s opportunity cost of producing 1 ton of steel in 2017 is 10 barrels of 0il?

o 3 grph

5’@ ME 9) Amy and Chester have linear production possibility frontiers with respect to solving chemistry
nar kK problems and math problems. Amy can solve 3 chemistry problems or 2 math problems every 2
~ hours. Chester can solve 4 chemistry problems or 3 math problems every hour. Given this
information and holding everything else constant, who has the comparative advantage in solving
chemistry problems?

Amy

b) Chester

EXAM CONTINUES ON NEXT PAGE
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Multiple Choice {20 guestions each worth 4 points each LA T
p (20 q P ) tf?a.—{‘;'f @ &, ¢, {0
) MQ\? 10) Beans are an inferior good and meat is a normal good. A new wage agreement for workers

increases the income of many consumers. Given this information and holding everything else
constant, how will the equilibrium prices and equilibrium quantities of both goods change
relative to their initial levels?

{ @) The equilibrium price and the equilibrium quantity of beans will decrease; the equilibrium
“price and the equilibrium quantity of meat will increase: ,

b) The equilibrium price and the equilibrium quantity of both goods will increase. A

¢) The equilibrium price and the equilibrium quantity of both goods will decrease X

d) The equilibrium price and the equilibrium quantity of beans will increase? the equilibrium [ G
price and the equilibrium quantity of meat will decrease. q0

. &
{THAGENEN 1) Suppose the only input in the production of bicycles and cars is labor. In 2016, Country A § ’ géfw
uses the same amount of labor in the production of cars as it does in the production of bicycles,
resulting in the production of 10,000 cars and 12,000 bicycles. Suppose in 2017, Country A
produces an additional 1,000 cars despite no increase in the total amount of labor available in the
country. Assuming constant opportunity costs and holding everything else constant, how many
bicycles were produced in 20177

. Assure L=206 vt Y AL [l,600 cas = naed o
@0,800 bicycles (&, odcrcars | = IO C anfont «:? ; i (zjfma%x 9
b) 11,000 bicycles : T atr L 7 — X y
¢) 11,800 bicycles i f o m‘m} . i20plesjut b (Goonits 0020 biles)
d) 12,000 bicycles m,'? L iy 60 fgikf I'e

& LeT o~ 12) Consider two countries, Smallia and Grandia, that both have linear production possibility
b oRE frontiers in the production of cars and bicycles. Assume that these are the only two goods that
- these two countries produce. Smallia can produce either 32 bicycles or 48 cars in 4 days working
f’ﬁ( ![5 i at the same rate each day and Grandia can produce either 12 bicycles or 8 cars in a single day.
G,W,Lmé'iﬂg%iven this information and holding everything else constant, find the equation for the joint PPF
for these two countries if they work together for 2 days. Let C be the number of cars and B be the

number of bicycles. N
| X 5 palhiz Gromdits
a) C = 40+ (-3/2)B for B less than or equal to 24

e §
and C = 40 + (-2/3) B for B more than 24 ﬁ (5\ _‘ M c.
b) C =40 + (-1/3) B for B less than or equal to° _/) b é

N

- and C =40 + (-3/2) B for B more than 24 _ ? A
¢) O =40+ (-2/3) B for B less than or equal to 24
and C = 60 + (-3/2) B for B more than 24 v/ Y AN

d) C =40+ (-2/3) B for B less than or equal tg 24 >

P /ﬂ
~ zZ

i ll A,
P and C =40 + (-1/2) B for B more than 24}& iL v ,t :m{‘?«jif {%)“f“z
e : (i b e G AT X by £
C g . b '3 ] ST e 2 .
T Nk ansucrs Pt Con vepfival ax e ¢ It vdage o gt Pdaym
, (D3 [ Do & - 2R
Lo 1= mxr G L0~ 58
w L 0= )R it f» Bz29
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Aot 13} Consider Charlie who sells hamburgers. Charlie won't sell any hamburgers if the price is
HAR > below $2, but he is willing to supply 2 additional hamburgers for every $1 increase in the price.
; Given this information and holding everything else constant, what is the equation for Charlie’s

supply curve? Assume that Q is the quantity of hamburgers and P is the price per hamburger.
-~ ; ]

2)Q=2P+ 1
BhQ=2P-4
Q=(1/2)P-1

d) Q= (1/2)P +2

ﬁ LT I4) The fql]owing equations d@scribe the ipitial Flemand and supply for basketball jerseys, where
WORK P is the price per jersey and Q is the quantity of jerseys: D sin zTJ s P’f“f ) : :

| Prio- %G i“’i:;:;;;‘ LR
‘IE%; ';& :éj’im L;;M?;J
, D (] 2399 :
Suppose the new season is coming, and the demand for | Jerseys mcreases by 80 jerseys at each
price level. Given this information and holding everything ¢IS€ Constant, t, which of the following
statements is true?

Market demand: P =110 —(1/2)Q
Market supply: P=1/3 Q

a) Compared W“lth the initial equilibrium quantity, the new equilibrium quantity increases by 60

jerseys. X 7'/ 9 9

b) Compared w1th the initial equilibrium quantity, the new equilibrium quantity increases by 32

jerseys. X T 2y vd'd Ol

c¢) Compared with the initial equilibrium price, the new equilibrium price remains unchanged/v Aot Friv€
@Ompmed with the mitial equilibrium price, the new equilibrium price increases by $16 per

jersey.

AloT THAr  15) Consider a market for wheat in which the government has implemented an effective price
HAED support program. Suppose this year, quinoa becomes popular, reducing the demand for wheat at
' all prices. Holding everything else constant, what is the effect on the cost to the government of
this program and the level of consumer expenditare on wheat {from this change in demand?

a) The cost to the government decreasez;{and the level of consumer expenditure on wheat
increases.

b) The cost to the government decreases and the level of consumer expenditure on wheat remains

, same Ve
C§§ he cost o the government increases and the level of consumer expenditure on wheat

ecreases. i
d) Both the cost to the government and the level of consumer expenditure on wheat increase.
Syt of Dsht Lot
J{Ji"é% ) P
[’ Tyl S Esendi 5 g,/C?Mer- Z@Sf w-)

X cons o b A
N DY py i byt adve =) /’fWLM o/
i AN ? ¥ 7

&;»}Pwﬁﬁfj 3of19




/F LOT ¢F  16) Suppose widgets and gadgets are substitutes in consumption, but gadgets are required as an

LoGid input to the production of widgets. Suppose the price of gadgets increases. Given this
information and holding everything else constant, how does this affect the equilibrium price and

(ﬁ EQUIRED quantity of widgets? Relative to the initial equilibrium price and equilibrium quantity of widgets

HERE

a) The equilibrium price of widgets decreases and the equilibrium quantity of widgets increases.
Ao L q p
, , The equilibrium price of widgets increases and the equilibrium quantity of widgets is
lomatia 1 P £
i indeterminate.

MATH ) The equilibrium price of widgets is hldetenninatéand the equilibrium quantity of widgets

A AL { increases. Ve
oF d) The equilibrium price of widgets increases and the equilibrium quantity of widgets decrease>s<
pMATH
Lot
EXAM CONTINUES ON NEXT PAGE

gﬁdgﬁfj N?m?ﬂf«ﬁ + ﬁmf‘zézi\c:f wid jﬁfj
,p 7’&: A ge”lfo /
o (e ff\ﬂ'l/ ‘sz )
ﬂwﬁjﬂf@ !

I
) gwéggmgj /”’é P
{sz:% ﬂz A bif‘?géaef f\

H e ¥
/Vz é./} -’—'D)wgf—ﬂ”;?’nfihf

fi b+ 5

| i
— ” A L S
¢ .:' £ E) ﬁuj 71/’7»%:";”%( f,,\ g mjw%f% g
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17) Which graph below represents different information than the other three graphs?

fiet
AALD
6 8 X =il
e b ¥y
eT 18) The owners of Einstein Bros. Bagels find that when the price for a bagel is $3, they can sell 1
f‘f’MD 80 bagels a day, and for every $0.20 increase in the price of a bagel, the quantity of bagels they .
can sell decreases by & bagels. Assuming that the demand curve for bagels is linear, which of the BALE
following equations represents the demand for their bagels? Assume the Q is the quantity of ¥ r Lo

bagels and P is the price per bagel.

a) Q=320 - 80P A Knzom f‘»‘f"‘ff" ’

b) Q = 320 — 40P o Py =(8e,3)9
c)) 8— 200 — 40P :f/ b4 @7 ( (1,3)
d) Q =200 - 80P X, -
P
0 2
2) §= 220 307 e 5% i LS
;j 7o = Q = BLG”gﬁigj" ’ 3 2.0 L7

ag - 15E 64
| \
&:‘) 3 =200~ %”}X o

o 0P ‘
b) ”@ﬁ:f;z?} & =320~ ye(3)= JoeX

Amfiz@z must ge ()

322 @3520”?@(‘32%@% (P P TH& 5%
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LA \;5' 19) Maria produces two kinds of goods: solving math problems or watching episodes of her
favorite TV shows, Her production possibility frontier for the production of these two goods is
linear. Maria has time to solve 5 math problems or watch 10 episodes of her favorite TV shows.
Given this information and holding everything else constant, which of the following options is

feasible for Maria? TYs i -2 M ;&zwd%h fﬂ sﬂp -

{,Lf;e 2oafita & determine

a) 3 math problems and,é' episodes }{ RN

P math problems and 4 episodes = Feathle
T) 5 math problems and 2 episodes X

d) 2 math probiems and 8 episodes ¥, “" At 75{;,@{ bl e
Qeme 20) Consider Alice, Charlie and Donna who each have linear PPFs in the production of paintings
MATH and teacups. Suppose Alice has the comparative advantage in the production of paintings, and
Loéic Donna has the comparative advantage in the production of teacups. Given this information and
holding everything else constant, if these three individuals are producing together at a jointly

efficient point, which of the following scenarios cannot occur?

a) Alice produces some of both goods, while Donna and Charlie produce only teacups.
b) Alice produces only paintings, while Donna and Charlie each produce only teacups.
c) Alice and Charlie both produce only paintings, while Donna produces only teacups.
OAhce and Donna both produce only paﬁmﬁ% while Charlie produces some of both goods.
o
HALD 21) Suppose that an economy consists of just two people: Joe and Mary. Both Joe and Mary have
the same individual demand curve for coffee. Their individual demand curves are described by
the following equations where P is the price per cup of coffee and Q is the quantity of cups of
coffee:
Joe™s demand curve for coffee: P=12 - Q
Mary’s demand curve for coffee: P=12-Q
The market supply curve is given by the following equation:
Market supply curve: P = (1/2)Q
Suppose the Mary’s income increases and she now can afford and therefore demands 4 more
cups of coffee at every price. Given this information and holding everything else constant, what
will happen to the quantity of coffee Joe demands? 2L

WA 4

a) Joe’s consumption increases by 3 cups of coffee.
b) Joe’s consumption increases by 1 cup of coffee.
Joe’s consumption decreases by 1 cup of coffee.

d) Joe’s consumption decreases by 3 cups of coffee. g6
20 3% Q) (N g Mt D Pz~ £@ )
Wf [ N NewMiet D' Pz & = 56 R

« - ‘T " L (2%
WAL\ | 0=
& @ﬂw ( . . j9 = L
d . L _ . ‘@& |
e é\\ [t €. L
ja e 12— 5@ € jyEQE
{ ™ S 1 - (¥ = @ o\
i Chos Do . 7 ;{X%:C é(:)? = Pl | 4o S0lFT
&}f&‘?« ;;é»-i &“Q\@i’%’@&) @;5{ tlz?ofw
@m.—@«f&y - Cfmﬁﬁ?’ - af
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Use the following information for the next three (3) questions:

Apple released its new iPhone in September. The following equations describe the market
demand and the market supply for this new product in Madison, where P is the price and Q is the
quantity of iPhones:

Market Demand: Q = 4000 — 4P
Market Supply: Q=P

ot 22) When this market is in equilibrium, which statement is true?
HARD £

a) Consumer surplus is less than $50,000/ S =3 00 o
Q%Producer surplus is more than twice as large as c%gsumer surplus, v~ /7 /7

¢) Total surplus is more than $500,000. X 7.5 = "¢ ¢¢G _

d) Producer surplus is between $200,000 and $300,000. % #S = #3 2 coo

e s €rau e

2y 23) Suppose the government imposes a price ceiling of $600 in this market. What is the
N p
750 deadweight loss, if any, from the implementation of this policy?
BAY :
(2)$25.000
b) $0
¢) $50,000
d) $120,000
ANeT 24} Consider the policy described in the last question. Which statement is true about this price

H 4D control policy?
ot Biprt®
a) Both consumers and Apple are winners from the implementation of this price ceiling.
Only consumers are winners from the implementation of this price ceiling,
¢) Only Apple is a winner from the implementation of this price ceiling, A
d) Both consumers*and Apple are losers from the implementation of this price ceiling.

[’(@:(,T/WLE’ 25) Suppose a draught in Ruritania, the main producer of flax seeds, caused a major reduction in
the quantity of flax seeds produced. At the same time, a major recession causes many people to
lose their jobs. As a result of this recession, people cut back on their consumption of flax seeds.
Assume that the demand curve for flax seed is downward sloping and that the supply curve for
flax seed is upward sloping. Given this information and holding everything else constant, what is
the impact of these two events on the market for flax seed?

he new price’s relationship to the initial price level cannot be determined but the quantity
decreases relative to its initial level,
¢) The price increases and the quantity increases relative to their initial levels.
d) The price decreases relative to its initial level but the new quantity’s relationship to the level
of the 1nitial quantity cannot be determined.

ai Both the pricg and quantity decrease relative to their initial levels.

& ¢ derive b Gy

& relative o :
150f 19




Use the following information to answer the next three (3) questions.

In the market for corn, consumers are willing to buy 10 tons of corn for a price of $230 per ton
and farmers are willing to sell 10 tons for a price of $5 per ton. It 1s also known that consumers
are willing to buy 120 tons for $10 and farmers are willing to sell 120 tons for $60. You are also
told that the demand and the supply curves for corn are linear.

NUTH AAp 26) Given the above information and holding everything else constant, what is the equilibrium
quantity and equilibrium price of corn?

Q = 100{0115 of corn and P = $50 per ton of corn v/

by Q= 120%0ns of corn and P = $60 per ton of corn

¢) Q=90 ons of corn and P = $45 per ton of corn

d) The equilibrium cannot be determined from the given im°orma‘cion.}<

NOT HARD 27) The government decides to implement a price support program for corn. The government
implements a price floor of $60. Given this information and holding everything else constant,
what will be the cost of the program to the government? Assume there are no storage costs
associated with this program.

a) $1250
b) $1000

c) $1200
(d))$1500
E 4{\/ 28) Which of the following is true after the price support prograﬁl has been implemented?

a) Consumers pay more for corn than they did initially,/but they also get more corn once the
program is implemented. X

@ Total Farmer revenuc has increased as a result of the implementation of this program.
¢) With the implementation of this program, less corn will be produced. X Move tt20
d) Total Farmer revenue as a result of the program is ]ess eﬂiinr the cost to the government of this

L
program. ¥, ‘
M) Tremd Find E?wwam::
ND —y -
P e -220 2omEq s wq
ien Ho j'ZT_D'—Lf‘@ = &

¢ - —~LGF O - ::z)kn/zrw(a)t‘ddﬂfwr’
(of Y Y2 DR o wiave wovknaaded |

P g ~2((00) =50
C p- A50-2® =2
S S V p= ko) 25
VVV'L .
? it o _5__'?., - 4
bv o K 2.
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Some 29) William can devote his time to either watching TV Shows or knitting sweaters. It always
71 ué 7 takes 1 hour to watch one TV show. William becomes more skilled as he knits more sweaters,
so, for example, his 1st sweater takes 3 hours, but his 5th sweater only takes 1 hour. However, if
he knits too much, he starts to tire, and knits more slowly, so, for example, his 15th sweater takes

2 hours.

Given the above information, which of the following graphs could represent William’s PPF of
TV shows and sweaters?

g E
F F
l
-
- | < Sweaters " Sweaters
2 3 '
Sweaters Swaaters
END OF EXAM!
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